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1. The quotient when(—824—4z3—4z2 —9z-9)is divided by(z2 +9z+8)is
(i) (—822+682—552) (i) (=722+682z—552) (iii) (—=52%2+682—552) (iv) (—92%+68z—552)
(V) (=1122+682z—552)

2. The degree of the polynomial(—6a+3) is
(i) 1 (i) 4 (i) 0 (iv) 2 (v) (-2)

3. The remainder when(3c¢c+8) is divided by (c+4) is
(i) (=5) (i) (=6) (i) (=4) (iv) (=3) (v) (-1)
4. (16x° —40x* —4x3+82x%2 —72x+18) divided by (8 x> —4x% —18x+9) =
() 2x2+4x+2) (i) (2x2—4x=2) (i) 2x2=3x+2) (iv) (2x2=5x+2) (V) (2x2—4x+2)

If the polynomial 4)(4 - 15)(2 + ax + b is divided by (x—1) ,it leaves a remainder-10 .If it is divided by (x—6),

it leaves a remainder4620 .Find the value ofa and b

(i) -4,6 (i) 7,-4 (i) 5,-6 (iv) -5,7 (v) -5,6

6. The value of the ponnomiaI(7p2—3p+8) at p=4is

(i) 110 (ii) 108 (iii)) 106 (iv) 109 (v) 107

7. (6x3+13x%2-21x-18) +(—=3x%2—11x-6) =

(i) (=2x=3) (i) (=2x+3) (iii) (=x+3) (iv) (=3x+3) (v) (2x+3)

8. Givenf(r)=(—-7r2—4r+7),find f((-5))

(i) -151 (ii) -145 (iii) -147 (iv) -149 (v) -148

If the polynomials ax2 —4x—-52 and3x2 + ax — 7leave the same remainder when divided by (x+3),
find the value of a

(i) 6 (ii) 4 (iii) 5 (iv) 2 (v) 8

10. (5x*+59x3+194x%+120x) + (X% +11x+30)

(i) (5x2+4x) (i) (5x2—4x) (iii) (5x2+5x) (iv) (5x2+3x) (V) (=5x2+4x)

11. Factorize (x*—3x3-32x2+12x+112)
() (x+8)(x=2)(x+2)(x=7) (ii) (x+4)(=2)2(=7) (i) (x+4)(2x=2)(2x+2)(2x—7)

(iv) (x+4)(-2x-2)(—x+2)(—-2x-7) (v) (x+4)(4x—-2)(4x+2)(4x-T7)
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The remainder when(5q4—3q2—4q+3) is divided by(q2—3q—40) is

(i) (13219+9683) (ii) (13229+9683) (iii) (1325¢+9683) (iv) (13239+9683) (v) (1320g+9683)

Find the value of kK such that kx3 + 14x2 + 2x — 20 is exactly divisible by (x+2)
(iy 6 (i) 5 (i) 3 (iv) 4 (v) 2

80 182
Find the quadratic polynomial which when divided by (x—7),(3x+1),(3x+4) leaves remainders of 48 ,-9 - 5

respectively.

(i) (9x2+15x+4) (i) (3x2=20x-7) (i) (6x2—10x-24) (iv) (2x2—8x+6) (v) (x2—8x+7)

Which of the following are true?

2. .
a) mr-is a monomial

b) A binomial may have degree 3
C
d
e) Degree of zero polynomial is zero

Every polynomial is a binomial
A binomial has two and only two terms

)
)
)
)
(i) {c,a,b} (ii) {ced} (ii) {eb} (iv) {c,a} (v) {a,b,d}

The quotient When(5n2 —4n+8)is divided by (n+3)is

(i) (5n=19) (i) (3n—=19) (iii)) (6n—=19) (iv) (4n-=19) (v) (8n—-19)

The value of the polynomial (=8c*+3c3+6c2—6¢c+1) at c=(-1)is
() 1 (i) 4 Gii) 3 (v) 2 (v) -1
The quotient when (32 =3/4+9/3-6/2-8/—5) s divided by (i—2) is

(i) (44433 +152+24i+40) (i) (34 +3P+15/2+24/+40) (iii) (5/4+3/3+15/2+24i+40)

(iv) (3P +15/2+24/+40) (v) (24 +33+15/2+24i+40)

The degree of the polynomial (k5—k3+8/<2 —8k+9)is

(i) 2 (ii) 5 (iii) 8 (iv) 4 (v) 6

9
If one of the roots of the cubic equation(315)(3—1082)(2 +1137x—-378)=0is 5 ,find the remaining real roots

(i) (-7 -5) (ii) (7 1) (iii) (7 -6) (iv) (11 7 ) (v) (-11 1)
i =% i 3 iii 9’7 iv T T % 5
The degree of the polynomial (952 +55-4)is

(i) 1 (ii) 3 (iii) 0 (iv) 2 (v) 5

The value of the polynomial (45+6) at s=1is
(i) 7 (i) 10 (iii) 13 (iv) 11 (v) 9



23. Which of the following polynomials is not a multiple of (x—1) ?

() 3x2—4x+1) (i) (3x2=2x-1) (iii) (X¥2=3x+2) (iv) (9x2—=1) (v) (3x2—x—2)

24. In which of the cases, g(x) is a factor of f(x)?
(i) f(x)=(—9x3—63x2+76x+32),9(x)=(—x+3) (i) Ax)=(3x3+11x2=92x+96),9(x)=(—-2x+7)
(iil) Ax)=(x3—x2—54x+144),g(x)=(—-3x+4) (iv) Fx)=(6x3+19x2—204x+224),9(x)=(3x+1)

(v) F(x)=(3x3—26x%2+45x+18),g(x)=(—x+6)

25. The quotient when(2¢+3) is divided by (£—6) is
(i) 3 (i) (=1) (i) 2 (iv) 5 (v) 1



Assignment Key

1) (i) 2) (i) 3) (iii) 4) (v) 5) (v) 6) (ii)
7) (ii) 8) (v) 9) (iii) 10) (i) 11) (i) 12) (ii)
13) (iv) 14) (iv) 15) (v) 16) (i) 17) (iv) 18) (ii)
19) (ii) 20) (iii) 21) (iv) 22) (ii) 23) (iv) 24) (v)
25) (iii)
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